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1 — The given thin plate is subjected to the shown load. Determine the largest value of P that can be
safely applied. Also , determine the location of the Neutral Axis. Given: allowable tensile stress is
20 MPa , allowable compressive stress is 24 MPa, plate thickness = 10mm , d = 40 mm.

a

| ¥ "
\*’\[ |60 ww
N - : A _‘b' p *"%“\ S R G e
¥ \ [ r d RS o M N b5 o » TRV, | o (P Yo :
[oomw 6 omw ~——300 mm
T— ? d-’—‘AOW\\M a
3 eAS ve
( Not "'j ACale ) [MA = IOXZO'D@ owmd Yongle St
v beloww NA) |
= é-é?xlocmwb
A = lox200 = 2000 MW
O, = _ 6ol rloo  _
Max, ¢ 7\(-)— _2__1_):__" e J;Mow,(,
= 1 —delrim = =24
s B OPRIOR, o
eeo? ¢ 67%10
=0 = (o 068N = o.0L KN
Omax ¢ =P L GoPxloo
A ¢ - Callow, T
S P L el = 20
¢ ¢ 67x10°
= (= 42900 =24 N

CThe bv?&%t Value &7 =z

c///’/’///




2 - The given I-beam is subjected to the loading shown. Determine the stress components (normal &
shear) at points 4 and B and show the results on a differential element at each of these points. Use
the shear formula (VQ/Ib) to compute the shear stress.
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3 - Solve problem 8-45 (p. 427) in your textbook, but make the following change: the block width
should be 60 mm (instead of 7Smm) , and the magnitude of the 30 kN force should be changed

to 10 kN. '
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4 —The 60 mm-diameter rod is fixed to the wall and is subjected to the loads shown. Determine the state
of stress at point D and at point E. Show the results on a differential element located at each point.
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